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2-1. CAPLER(Comprehensive Analysis Package for Light watER reactors)
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ASTRA Initialize
call Read input/XS
call Memory allocation

call Initialize_mp @
- mapping indexing for coupling
call construct mpi_comm

subroutine ssref

A 4

A 4

XS Feedback

v

Nodal Solver

v

TH Solver

- solve coolant e

- solve fuel

converge?

Save information
- call ppf
- write output
-etc ...

\ 4

ASTRA Finalize

A 4

THALES Initialize
call contruct_thales_comm
call initialize_thales
- read CHASER_TH
call set_thales_data
call fake_run

2.5 Steady state (ASTRA+THALES+FROST)

Set THALES Data
call set_value
if(.not.reject) then
call get_space_data
call set_space_data

!

Run THALES Solver
call run_thales(dT)

Get THALES Data
call get_value

\ 4

— if converge fuel?

FROST Initialize
call contruct_frap_comm
I Each proc = n_fuel_pin/nprocs
call set_frost()
- provide ini, inp file name
call initialize_frost
call fake_run

Set FROST Data
* proadcast target data to slave processes
call set_value

v

Run FROST Solver
call run_frost
call get_value

Get FROST Data
* Allreduce taget data
call get_value
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—> Set Condition
- set time, scenario

v

subroutine trans l

XS Feedback

v

Nodal Solver

Accept/Reject THALES Data
if (conv heat flux)
call accept_thales
else
call reject_thales
endif

2.6 Transient state (ASTRA+THALES+FROST)

Accept/Reject FROST Data
if (conv heat flux)
call accept_frost
else
call reject_frost
endif

v

TH Solver

- solve coolant e
- solve fuel

conv heat flux?

Save information
- call ppf
- write output
-etc ...

Set THALES Data
call set_value
if (.not.reject) then
call get_space_data
call set_space_data

Set FROST Data
* broadcast target data to slave processes
call set_value

v

:

Run THALES Solver
call run_thales(dT)

Run FROST Solver
call run_frost
call get_value

!

ASTRA Finalize

Get THALES Data
call get_value

Get FROST Data
* Allreduce taget data
call get_value
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